






















As an example we will use a deceased teacher whose highest 
annual salary was $45,000. He was survived by his wife and 

one child. 

Step 1: Calculate the spousal benefit. 
• Highest annual salary: $45,000
• Spouse benefit at age 60: $1,375 per month

Step 2: Find the correct multiplier. 
• The teacher was survived by his wife and one child,

qualifying them for the family benefit.
• Family benefit multiplier: 150%.

Step 3: Calculate the benefit. 
• 

• 

• 

• 

• 

Spousal Benefit x Family Benefit Multiplier 

$1,375 X 150% = $2,062.50 . 

Parent and child benefit: $2,062.50 per month . 
When the child is 18 years old, or 23 if a full-time 

student, the family benefit ends. 

When the spouse reaches age 60, she may then 
collect the spousal benefit of $1,375 if she has 

not remarried. 
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